S2

Counting Coins Answer Key

1)

Ken'’s dad gave him 5 nickels, and his mom gave him 5 dimes. How much money
did Ken getin all?

75 cents

Fiona bought a bunch of bananas for 4 pennies, 3 nickels, and 3 quarters. How
much did the bananas cost?

94 cents

Quentin had 2 nickels and 5 pennies in his piggy bank. How much money was
there?

15 cents

Gemma buys a stamp and pays the postal clerk 2 quarters, 1 dime, 2 nickels,
and 3 pennies. How much does the stamp cost?

73 cents

Serena has 7 pennies in her purse. Her mom gives her 6 dimes. How much
money does Serene have now?

67 cents
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